(Short Answ

! _ Note . -An_:wﬂ-nhy::t-‘l\i‘Ea‘ﬂ-*
A IfF‘ =(y,x,z) and Cis the curve given by x =cosg, sing,
Y '
then evaluate IF dr

[

2 Define conservative vector field with example.
n Mil=xfa) efl-sla=-vIh}

g _abe - '\
- Showthal_! [ ]' dz d = N
4

o 0
A4~ Find the angle between the surfaces of the sphere x +z% =2 and the ey‘l nder

x* +y* = lat a point where they intersect. P 4 "

g f -f. = grad (x’ +y’ + 2z’ —3xyz)find curl ?%}_\‘?
6~ Find unit normal to the surface v =x+# atthe'point (1,2, 1). «—

i

™% Give the physical interpretation of curl.y, _/
» 8 Show that culr (grad ¢)= 0if is:a scalar field. .~ .

PAR’ l‘i}é’(a x 15 = 45 Marks)
.. “{Essay Answer Type)

Note:‘Answer ALL from the questions. '
9 (a) Evaluate the surfage integral of u=(y , x? , 2%) over the surface S where S is the
triangular surface onx=0withy=0,z20,y+z<1, with the normal s direc _‘1?_'

in the positive/direction of x — axis. =
% b OR : .

by '11 - -+ 5 / ¥ e . 1

(b) itugtmlﬁe line integral jF xd r where is the vector field {-g_.-:-,ﬁ;.'-'_ﬂl‘«ﬁﬁg;@

: c R

t

rvey=sinx.z=0betweenx=ﬂandx=n.

10 (a) A cube has a variable density given by p = 1 +x +y +z. What is the total m

the cube? J
OR

(b) Find the volume integral of the scalar field ¢ = x? + y* + Z° over the re
specifiedby0 <x<1,1<y<20<2z<3. '

11 (a) Show that k
|

u=(y'z-z'siny+2xz, 2zcosp+y’x)

is irrotational. Find the corresponding pamnualmnm

OR =

(b) Find the gradient and Laplaciannf 7= sn(K_)sin(0y)e
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